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—. Fill in the blanks. (#£20%3)
1. 2.
3. 4,
5, 6.
7. 8.
9. 10.
—. Multiple Choices. (24, #£30%)
11. [A] [B] [C] [DI] 16. [A] [B]1 [C] [D1] 21. [A] [B] [C] [D]
12. [A] [B] [C] [D] 17. [A] [B] [C] [D] 22. [A]l [B]1 [C] [D]
13. [A] [B]1 [C] [D1] 18. [A] [B] [C] [D1] 23. [A] [B]1 [C] [D]
14. [A] [B] [C] [D] 19. [A] [B] [C] [D] 24. [A] [B]1 [C] [D]
15. [A] [B]1 [C] [DI] 20. [A] [B] [C] [D] 25. [A] [B] [C] [D]
=. True or False. (Bft24%, £20%)
26. [T]1 [F1] 31.[T]1 [F]
27.[T]1 [F1] 32.[T]1 [F1]
28.[T]1 [F1] 33.[T]1 [F1]
29. [T] [F1] 34. [T] L[F]
30. [T]1 [F1] 35.[T]1 [F]
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P9, Explain the following terms. (#£20%3)

1.(493)

2.(493)

3.(4%3)

5.(493)
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Fi. Draw a tree diagram for the following sentence. (#£10%3)

1.(10%)
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